

... $U \setminus \{0\}$... $U \setminus \{0\}$... $U \setminus \{0\}$...

... $U \setminus \{0\}$... $U \setminus \{0\}$... $U \setminus \{0\}$...

$F(z) = \log z + 2\pi ni$... $U' = U \setminus \{x \in \mathbb{R} : x \leq 0\}$... $(F(z))$...

$\forall z \in U' : \text{Arg } z = \frac{F(z) - \log|z| - 2\pi ni}{i}$... $F(z) = \log|z| + i \text{Arg } z + 2\pi ni$...

$U' \ni z \rightarrow a$... $U' \ni z \rightarrow a$... $U' \ni z \rightarrow a$...

$\lim_{z \rightarrow a} \text{Arg } z$... $\lim_{z \rightarrow a} \frac{F(z) - \log|z| - 2\pi ni}{i}$...

... $U \setminus \{0\}$...

$$z^b := e^{b \cdot \log z} \quad (b \in \mathbb{C}) \quad F(z) = z^b$$

... $\log z$... $U \setminus \{0\}$...

$(\sqrt{z} = z^{\frac{1}{2}} = e^{\frac{1}{2} \log z})$... $U \setminus \{0\}$...

$z^b = e^{b \log z}$... $U \setminus \{0\}$...

... $F_1(z), F_2(z)$... $U \setminus \{0\}$...

... $F_2(z) = F_1(z) + 2\pi ni$... $U \setminus \{0\}$...

$$z^b = e^{b F_2(z)} = e^{b F_1(z) + 2\pi ni} = e^{b F_1(z)} \cdot e^{2\pi ni} = e^{b F_1(z)}$$

... $z^{\frac{m}{n}}$... $b = \frac{m}{n}$...

$$z^{\frac{m}{n}} = e^{b F_1(z)} = e^{b F_1(z) + 2\pi i \cdot \frac{m}{n} \cdot n} = e^{b F_1(z)} \cdot e^{2\pi i m}$$

... $U \setminus \{0\}$...

$$\frac{m}{n} = h + \frac{l}{n_0} \quad , \quad n \leq l + n_0 - 1$$

... $\sqrt{-1+i}$... $U \setminus \{0\}$...

$$e^{\frac{1}{2} \log(-1+i)} = e^{\frac{1}{2} (\log \sqrt{2} + i \frac{3\pi}{4})} = \sqrt[4]{2} \cdot e^{i \frac{3\pi}{8}} = \sqrt[4]{2} (\cos \frac{3\pi}{8} + i \sin \frac{3\pi}{8})$$

$$(z^a)^r = z^{ar} \quad , \quad (z+z_1)^b \neq z^b + z_1^b \quad , \quad z^{b_1+b_2} = z^{b_1} \cdot z^{b_2}$$

... $U \setminus \{0\}$...

$$z^b = e^{b \log z} \Rightarrow (z^b)' = (e^{b \log z})' = e^{b \log z} \cdot \frac{b}{z} = b z^{b-1}$$

... $U \setminus \{0\}$...

$$(e^{\bar{z}} = \overline{e^z})$$

$$e^{-ix} = \cos x - i \sin x \quad , \quad e^{ix} = \cos x + i \sin x \quad , \quad x \in \mathbb{R}$$

$$\begin{aligned} \cos x &= \frac{e^{ix} + e^{-ix}}{2} \\ \sin x &= \frac{e^{ix} - e^{-ix}}{2i} \end{aligned}$$

... $U \setminus \{0\}$...

$$\sin z = \frac{e^{iz} - e^{-iz}}{2i}, \quad \cos z = \frac{e^{iz} + e^{-iz}}{2} \quad : z \in \mathbb{C} \text{ וכל } z \in \mathbb{C}$$

$$\sin(z+2\pi) = \sin z, \quad \cos(z+2\pi) = \cos z, \quad \sin(-z) = -\sin z, \quad \cos(-z) = \cos z$$

$$e^{iz} = \frac{e^{iz} + e^{-iz}}{2} + \frac{e^{iz} - e^{-iz}}{2i} = \frac{1}{2} + \frac{1}{2i} = 1 \leftarrow \cos^2 z + \sin^2 z = 1$$

$$\cos(u+v) = \cos u \cos v - \sin u \sin v, \quad \sin(u+v) = \sin u \cos v + \cos u \sin v$$

$$\left(\frac{e^{iz} + e^{-iz}}{2} \right)' = \frac{1}{2} (e^{iz} \cdot i + e^{-iz} \cdot (-i)) \leftarrow (\cos z)' = -\sin z, \quad (\sin z)' = \cos z$$

$$\frac{1}{2} (e^{iz} - e^{-iz})' = \frac{1}{2} (e^{iz} \cdot i - e^{-iz} \cdot (-i)) = -\sin z \quad e^{iz} = \cos z + i \sin z$$

$$e^{iz} - \frac{1}{e^{iz}} = 4i \leftarrow \frac{e^{iz} - e^{-iz}}{2i} = 2 \quad \sin z = 2$$

$$iz = \log(2 \pm \sqrt{3}i) \leftarrow e^{iz} = 2 \pm \sqrt{3}i \leftarrow (e^{iz})^2 - 4i \cdot e^{iz} - 1 = 0$$

$$z = \frac{\pi}{2} + 2\pi n - i \log(2 \pm \sqrt{3}i) \leftarrow iz = \log(2 \pm \sqrt{3}i) + i(\frac{\pi}{2} + 2\pi n) \leftarrow iz = \log(2 \pm \sqrt{3}i) + i \cdot \arg(2 \pm \sqrt{3}i)$$

series

$$(C \text{ series}) \text{ around } \sum_{n=1}^{\infty} z_n \text{ around } z$$

$$S_n = \sum_{k=1}^n z_k \quad \text{around } 0 \text{ from } n \text{ to } \infty$$

$$(S_n \rightarrow S \text{ as } z_n = S_n - S_{n-1} \rightarrow S - S = 0) \quad z_n \xrightarrow{n \rightarrow \infty} 0$$

$$\sum_{n=1}^{\infty} |z_n| \text{ ab } \sum_{n=1}^{\infty} |z_n| \text{ around } z$$

$$\text{around } z \text{ as } \{S_n\} \text{ around } z$$

$$\{S_n\} \text{ around } z \text{ as } \sum_{n=1}^{\infty} |z_n| < \infty$$

$$|S_n - S_m| = \left| \sum_{k=1}^n z_k - \sum_{k=1}^m z_k \right| = \left| \sum_{k=n+1}^m z_k \right| \leq \sum_{k=n+1}^m |z_k| \xrightarrow{m, n \rightarrow \infty} 0$$

$$\text{around } z \text{ as } \{S_n\} \text{ around } z \text{ as } S_n - S_{n-1} \xrightarrow{n \rightarrow \infty} 0$$

$$z \in U \text{ as } U \text{ open set around } z \text{ as } \{F_n(z)\}_{n=1}^{\infty} \text{ as } F(z)$$

$$U \text{ as } U \text{ open set around } F(z) \text{ as } \lim_{n \rightarrow \infty} F_n(z) = F(z)$$

$$\lim_{n \rightarrow \infty} F_n = F \quad U \text{ as } \{F_n\}_{n=1}^{\infty} \text{ as } F$$

$$U \text{ as } U \text{ open set around } F \text{ as } F_n \xrightarrow{n \rightarrow \infty} F$$

$$\forall n \in \mathbb{N}, \forall z \in U, |F_n(z) - F(z)| \leq \epsilon$$